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Puge 2007

Tall Guys Luckier in Love,

Scientists Confirm

ASSGCIATIN FRESE

gitlsin high school, it wasn't vour irmagk-

nation, Mew research suzgests that talle
ey avgs g Jikely Lo conaery aod tend o
have more children tha short guys.

Whats behind the phenomenon —
whether wonen preler ller men or thase
micn are simply more outpoing — =up o
debate. But the numbers clearky stack up
apainst shoter guys

FPolish and British seicntists stedied the
medical records of about 3,200 Polish men
ages 25 to G0 and found thal childless men
were oreaverge 12 inches shorber than
e whies had at lesst one child.

Bachelors were aloul an ingh shofer on
averspe thao macried e Thisl was (e
cven atter rescarchers tonk into account
the fact that men’s heights imereased in re
cenl decmdes becawse ol bedler nulation
and hezlth care.

The records, which were collectedn
Wroclkaw, Palarud, from 1983 1o 1959,
showved Uhal L]t i heeir 206, 305 ared
Azl Tyl rrse children thano theie short-
¢ preers, Helghl dido't seem to metter for
men in thoir 3l Babin LM, Dunbar of the
Universiny of Liverpool said that iz because
thase men ciaroee ol age alter Wierld War 1T
— i cdastrophe that claimed the lives of
many Polish mer and reduced women's

I 1 it seemed a5 if the tall poys pot all e

MATINE coptions.

Flonweser, Dunbar said the numbers
clearly shaw that women favor daller men
— samelliing that othor research sugpests
is true goross all cultures.

"Basically, hoight is a pooxy for ollie
variahbles thal wamen find desirable — men
who can protect tem, provide them with
resources, have pood soctal status and
aren't casily dominated by ather men,”
said Dunbar, a profesar ol evolutionans
pevchalopy @nd the study's co-author,

The findings woere pubilisled in today's
tssue of tie jourmal Mature.

Ot ot the mulidany seovice records of
4400 men, the researchers cxcluded men
who were abnornzally short or tall. The
pverape hieight of the 3,200 men whose ré-
cords wepe pagl of Lheir linal sample was &
fcaet 1.

While other studies have slicen Lhal
tallerdhangaverage men have kigher in-
cooes s sacial status than sharter men,
this study s e fest b demanstrate a link
botween hedpht and seproduetive success,
eaid David Buss, a peofessur of pavchology
at the University of Uexas at Awstico,

Drunbar said he uedertook the reseach
after noticing that in personal ads men ad-
vertise their heighl only i ey are tall ar
tafler than avocrage.

“You didi’t see any advertiscmoents sy-
ing, ‘I'm 3 ford 3, pive mea cll,” " he said.
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Docs the study demonsitale perseasively that height is a lactor thal causes women to marry men?
Answer Yey or No and briefly explain.
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2. A table for menthly renl inoa cerlain city 35 shown helow, based on prices of 200 rental units. The

lable shows, for example, thul 30 rental unils wers in the range SO0 o SRO0. All the rents in the city
were belween $600 and $2000.

Benl (in dollars) Mumber of units
GEE-E00) 30

BOO-1000 120

1000- 1500 40

LA00-2000 [}

(a1 [4] Graph the histogram, labeling and marking the honzontal and veriical axes clearly.

ih) 12] A reasonable estimate for the modian rent is . Exaplain your answer briefly.

i) [2] The upper quarils 15 about - Explain vour anawer hriefly.

i(d) [2] The 5D of the rents i= about (circle onc): 50 100 304 1000, Explain your answer briefly.
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3. [4] Ina study of men aged 1% to 26, a histogram of systolic blood pressure was found to [ollow the
normal curve closcly, The median pressure was 120 mm and the lower quartile was 108, What was

the 900 pereentile, approximately? Show vour work.
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4. [4] Which of this list of correlation cocllicients go with which of the figures:
90, .75, -60, -85, Write the correlation cocfficien! n each box, Txplain your
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reasoning bricily.
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5, The lollowing table shows the percentage of alcohol drnkers ul each of several ages in a small mid-
weslern lown,

Age (years) 20 30 4 | 50
Pereent drinkers A5 IR 20% | 11

{2) [2] Ts the correlation between age and the percentage of non-drinkers posilive, negalive, or zero?!
Why?

{b) [2] If age were recorded in months instead of years the comrelation between age and percentage of
drinkers would: deceease  increase  remain the same,
Circle one and explain briefly.

() [2] The: table shows that as a person ages he is less likely o donk. True or Lalse and why?
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6. A law school [inds the Tollowing relationship hetween LSAT scores and first-veur scores, The
sealler diagram was [eotball shapec.

Average LSAT Score = 51 ald=0
Average First-Year Score =068 5D=15
Correlation = .00

(u) [2] What would vou predict to be the first-year score of sumeons who oblained 28 on the LSATY

(b)Y [2] Copy vour answer [or (a) into the blank below. Is this statement true or false and why??

“If somenne scored in the first year, it would be ressonable o estimate thal person’s
seoe on the LEAT to be 28 points.”

i) [2] Of people in the 75th percentile of LSAT scores, approximalely what proportion are at or above
the 75 percentile in first year scorc?

htip:stat-www_berkeley.edwusers/rice/Stat2/mid 1 - 2000 himl G 232003
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1. No. This is an obscrvational study, not a controlled experiment. The association could be
confounded with other variables, such as health, [or example

2 {a)
[nterval hecizht
GL0-B0 075

| S00-1000 A0
LOO0-1 500 04
[ S00-200000) 0l

(b Around the middle of the inlerval B00-1000, say $900

fc) $1000 since 25% of the dala are greater than 51000

() %300 since the range of the dala i a little more than 4 5D, The other cholees give gither too
many or ton few SD for the tolal range of the data

3, The o percentile is about 144 The interguartile range, 108-132, containg 30% of the dala and

corresponds to a 7 score of plus or minus .65, So SDY=18.460. To find the u™ percentile louk Tor B0
central area, which gives z=1.3.

4. Labeling scross the rows: .90, -.60, -85, .73

5, () positive, (b} remain the same since changing unils doesn’t change the correlation. (o) False, since
this is cross sectional data not longitadinal data

6. (1) 28 is 2/3 51 less than average. For first year predict .6 = (2/3) 5D less than average or 6 poinls
less than average. So prediction is 2.

(b} The statement is false, since there arc two regression lines,

() The 75™ percentile corrcsponds 1o a z-score = 635, The predicted z-score in the firsl year is .6 x 63
= 3Y. This corrcsponds to a first year score of 68 + 39 x 15 = 7385

In that vertical strip, the average is 73.85 und the 3D is the RMS error = 12 (using the [ormula). The

75 percentile of first year scores is 68 + .65 1 15=77.75. 77.75 - 7385 = 3.9 which equals 0.323
SD. The area to the right of 7 = (L3225 is aboul 37.5%,

So of those whe were in the 757 percentile on the LSAT. about 37.5% were in the 75 percentile in the
[irsl vear.
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